CSCI 5333.1 DBMS Fall 2021

Suggested Solution for HW #3
(2) For example:

(a)

PROJECT [city] (SELECT [country_id=15] (city));

(b)

PROJECT [city] (CITY JOIN (PROJECT [country_id] (SELECT [country='Bangladesh'] (COUNTRY))));

(c)

PROJECT [address]
(ADDRESS JOIN
(PROJECT [city_id] (CITY JOIN (PROJECT [country_id] (SELECT [country='Bangladesh'] (COUNTRY))))));

(d)

PROJECT [first_name, last_name]
(customer JOIN
(PROJECT [customer_id]
(rental JOIN
(PROJECT [inventory_id]
(inventory JOIN
PROJECT [film_id] (SELECT [actor_id = 1] (film_actor)))))));

(e)

PROJECT [first_name, last_name]
(customer JOIN
((PROJECT [customer_id]
(rental JOIN
(PROJECT [inventory_id]
(inventory JOIN
PROJECT [film_id] (SELECT [actor_id = 1] (film_actor))))))
INTERSECT
(PROJECT [customer_id]
(rental JOIN
(PROJECT [inventory_id]
(inventory JOIN



PROJECT [film_id] (SELECT [actor_id = 2] (film_actor))))))));

(f)

PROJECT [first_name, last_name]
(customer JOIN
((PROJECT [customer_id]
(rental JOIN
(PROJECT [inventory_id]
(inventory JOIN
PROJECT [film_id] (SELECT [actor_id = 1] (film_actor))))))

MINUS
(PROJECT [customer_id]
(rental JOIN
(PROJECT [inventory_id]
(inventory JOIN
PROJECT [film_id] (SELECT [actor_id = 2] (film_actor))))))));

(8)
PROJECT [title]
(film JOIN
((PROJECT [film_id] (film))
MINUS

(PROJECT [film_id] (film_actor))));

(2) For examples:

(a) T city (O country_id=12 (City))

(b) T city (City |X| T country_id(O country="angladesh (cOUNtry)))

(c) TU address (address |X| Tt ciy_ia (City |X| TUcountry_id(O country="8angiadest’ (cOuNtry)))))

(d) TU first_name, last_name (CUStOMeEr |X| TU customer id (rental |X| TUinventory ig(inventory | X| T fim_id (O actor id=1

(film_actor)))))

(e) TU first_name, last_name (CUStomer | x|
(T customer_id (rental |X| TUinventory ig(inventory |X| Tt fim_id (O actor ia=1 (film_actor)))) N
TUcustomer_id (rental |X| TUinventory_ig(inventory |X| Tt fim_id (O actor_ia=2 (film_actor))))))

(f) TU first_name, last_name (CUStomer |X|



(TU customer_id (rental |X| TUinventory ig(inventory |X| Tt sim_id (O actor_ia=1 (film_actor)))) -
TU customer_id (rental |X| TUinventory_ia(inventory | x| Tt fim_ia (O actor_ig=2 (film_actor))))))

(g) T te(film | x| (U sim_ia(film) - TUsim_ia(film_actor)))



